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2020
ENERGY MANAGEMENT

Frvife aw . fim 9 [Aftrman 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pe: () ¥ IAarE 8, 99 3 8 fEE ar F IR Grd |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) §%F T F G4 YT ) FHAR T T1 FA o |
Solve all parts of a question consecutively together.
(iii) X% ¥ 1 73 Y8 & IR Fifd |
Start each question on fresh page.
(iv) 2 yrran & s 817 #1 Rl 7 3 e & A 8 |

Only English version is valid in case of difference in both the languages.

1. (1) ftesan ain ye smamia 2
(a) kWh (b) kVA (¢) kVAr (d) Fad
Maximum demand charges are based on
(a) kWh (b) kVA (¢) kVAr (d) All of these
(2) g Tt i g e 2 o wna A e S R
(a) Fi % g frufor & fa
(b) faftr= &di &zt <1 amgfe & geum o forg Tomew
(c) Tl wearur FFHGH AN ferhrd
(d) Tl & FHd B FH A

Which issue is not addressed by Integrated Energy Policy ?

(a) Consistency in pricing of energy.

(b) Scope for improving supply of energy from varied sources.
(c) Energy conservation research and development

(d) Reducing price of energy

(3) Srafufiga § & #1991 S FEg= oTe & o U T 8 7
(a) 1SO 14001 (b) ISO 9001 (c¢) ISO 18001 (d) ISO 50001

Which of the following is a standard for Energy Management System ?
(a) 1SO 14001 (b) 1SO9001 (c) ISO 18001 (d) ISO 50001

(10f8) P.T.O.
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Sttt @A sreferae & wyft & g it el R e fafte s o @ R
WA 8 1 91 dael gad g7 IJqNT 2 7
(a) MY (b) =frfes (c) ife (d) W

Energy is consumed by all sectors of the economy but in different proportions.
Which sector is the largest consumer in India ?

(a) Agriculture (b) Commercial

(¢) Industrial (d) Domestic

frafafiga 3 3 1= @ feurs ame Fomz Ty A 2 7
(a) T % v+ an @ (A1) =1 faeht 2w
(b) Sframen $u= Imuria srftreaw Fat &1 3vgm

(c) 3&m forega Iuanton 1 i

(d) 3TEE A FUITEA BT ITANT

Which of the following is not a Demand Side Management measure ?
(a) Implementing Time of the Day (ToD) Electricity Tariff.

(b) Maximizing fossil fuel based energy utilization.

(c) Replacement of inefficient electrical appliances.

(d) Use ofice bank system.

Sl |d, At wpfa § g 9 & @ wea 2 #, Faem
(a) fedras af s (b) wrufts Fat w
(c) (a) 3R (b) 3 (d) I o A B TE

The energy source that are either found or stored in nature are
(a) Secondary Energy Sources (b) Primary Energy Sources

(¢c) both (a) and (b) (d) None of the above
JGE St Al & FY H HE= A1 B

(a) TRy FHat (b) it FHat

(c) wufiys FHaif (d) fadfigs s
Inexhaustible energy sources are known as

(a) Commercial Energy (b) renewable Energy
(¢) Primary Energy (d) secondary Energy
fava Gt Wer @ 8 %1 e 2

(@) 4589 (b)) 60®A (c) 2008 (d) 759
World oil reserves are estimated to last over
(@) 45years (b) 60years (c) 200 years (d) 75 years

YWIa &1 wrufie el @uq 2

(a) fawm 129 (b) fawa#i1/16

(c) famms$iis (d) fawm$iin0

The primary energy consumption of India is

(a) 1/29" of the World (b) 1/16™ of the World

(¢) 1/7" of the World (d) 1/20™ of the World
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(10) St @a ufe §TE Gehet Tie] IeTE, HEeTdl 8

(a) Tl I (b) it s
(c) e =afe @ua (d) g T
Energy consumption per unit of GDP is called as :
(a) Energy Ratio (b) Energy intensity
(c) Per capita consumption (d) None
(1) oA g FA AW ST & |
(a) TaA Hatl (b) «EHE FHAl
(c) HIgen Hat (d) “ERF
Energy from gravitational field is energy obtained from
(a) wind energy : (b) biomass energy
(¢) coal energy (d) High tides energy
(12) e Hiex %1 719 & fore yam fpar s 2 |
(a) T &R (b) wafx dierar 3 ot T
(c) EMifad (d) e
Lux meter is used to measure
(a) Illumination level (b) Sound intensity and Illumination level
(c) Harmonics (d) Speed

(13) Foit geero rfafaam 3 gan Sot s i afears § wfver 78 2 -
(a) St yEyT yorredt (THuneE) &1 fmfo
(b) St -refeme 1 gedied
(c) Fol I9AN & gedroH, et 3k favetyon
(d) Sl g9d & feru smavaes S/ A=
Definition of Energy Audit as per Energy Conservation Act does not include :
(a) Creation of an Energy Management System (EnMS)
(b) Evaluation of Techno-economics

(¢) Verification, monitoring and analysis of energy use
(d) Action plan required for energy saving.

(14) w Iw g fepatt faem & faw & fow 50 @@ ¥ 3 & 9@ 2 /@ 39
e 3R TETEE $ FEE Al 2 | 3R e 99d 22 dE 9 2 @ e #
Fafy gnfi
(@ 22898 (b) 2.5° () 3= (d 1099
A waste heat recovery system requires ¥ 50 lakhs investments and X 2 lakhs per
year to operate and maintain. If the annual savings is ¥ 22 lakhs, the payback
period will be
(a) 2.28 years (b) 2.5years (c) 3 years (d) 10 years

P.T.O.
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(15) a2 T HEwR FE g0 @Ia $ TR el wiEw 1.7 fheame gfa 23 W 2,
T 5EH Sl gE I (Fe/AR) R
(@ 17 ' (b 2.1
(c) 0.59 (d) 3w | 8 HIE o 7
If the power consumed by an air conditioner compressor is 1.7 kW per ton of
refrigeration, then its energy efficiency ratio (Watt/Watt) is

(@ 1.7 (b) 2.1
(¢) 0.59 (d) None of the above
(16) &8 g Icafold SHeheR YaTg (¢g0) 3N des gr @ud WIith (F1E) 1 31 HEaTdl 8
(a) =HHER s (b) THHER HTEHINAT
(c) TEdHal (d) =9H

Ratio of luminous flux (lumen) emitted by a bulb to the power consumed (watt)
by the bulb is called

(a) Luminous intensity (b) Luminous efficacy

(¢) Reflectance (d) Luminance

(17) Frefafgada s s e i F gy dmea 2 7
(a) T HIFL & AR 374/ 3ATH HTGIH 1 HH AT 2 |
(b) & FS ae 3R Tt 1 Frsprfera e 2 |
(c) I%HUTT geran § gfg Har ? |
(d) T IFT=HH AF 1 LAH W@ & o7 eror & =9 3 1 Far 2 |
Which of the following statement is false regarding Air receiver ?
(a) It reduces frequent on/off operation of compressors.
(b) It expels some oil and moisture.

(c) It increases compressor efficiency.
(d) It acts as reservoir to take care of sudden demands.

(18) anforfses 3eva & foru 3wdim o o ot wa &) St seeor sfufm, 2001 %
T&d HAT TGV HaF HIS T ITeiH HTA 1 FEvAehd1 a0, q91d
(a) %S @IE 120 fopeiame st Fm # |
(b) HFTEY I 100 HeTu 3R ITH FHR |
(c) THaeE &g 100 feretrare 3R IHF FUE 1 FEY TAT 120 Hefv 37 I98 IR
(4
(d) wHAEeE I8 500 fpeirare & 3R sgay 1 600 Hefiv 2 |

A building intended to be used for commercial purpose will be required to

follow Energy Conservation Building Code under Energy Conservation Act,

2001 provided its :

(a) connected load is 120 kW and above

(b) contract demand is 100 kVA and above

(c) connected load is 100 kW and above or contract demand is 120 kVA and
above.

(d) connected load is 500 kW and contract demand is 600 kVA
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(19) ot g srfufram & dga, Tifta sode ®t wfad St dan A w0
S B
(a) ST St WEYS R
(b) ST St SRET-TiE I
(c) WAl VT Sl Sr@T-giieeh g
(d) T B3 I I
Under the Energy Conservation Act, the designated consumer is required to get
the mandatory energy audit conducted by

(a) by certified energy manager (b) by certified energy auditor
(c) by accredited energy auditor (d) by in-house engineer

20) 3L FQWEIRIR 7
(a) S gEFaT A1S (b) it gEra =
(c) it ggan I (d) wH A HE
What is the full form of B.E.E ?

(a) Board of Energy Efficiency (b) Bureau of Energy Efficiency
(c) Branch of Energy Efficiency (d) None of these

(21) St weaor arfufiam, 2001 6wy fasivar 2
(a) 1EE <t wma
(b) |t 3ARET % forg St weeor v e Fuffa w0 & fog
(c) Fl @Ud A fAfeE # & forg
(d) (a) 3 (c) TH
Salient feature of Energy Conservation Act, 2001 is
(a) establishment of BEE.
(b) to prescribe energy conservation building codes for all buildings.

(c) to specify energy consumption standard.
(d) both (a) and (¢)
(22) ZrafeH o Y gEfeA e ag A B
(a) Wifdd ok 3 Sees | HHt & WY
(b) wifd orh 3 Aee | gfg F WY
(c) e Turh & gfg 3R dees # %t % w1y
(d) drees § afg 3R wfF o J F+ & w1
Transmission efficiency of a transmission line increases with the
(a) decrease in power factor and voltage
(b) increase in power factor and voltage

(c) increase in power factor but decrease in voltage
(d) increase in voltage and decrease in power factor

(23) FreafrRaa & @+ € figea T 2 2

(a) CFCs (b) SO, (c) “FFC (d) SFg
Which of the following is not a greenhouse gas ?
(a) CFCs (b) SO, (¢) PFC (d) SF,

P.T.O.
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(24) Frefafada s oy aft 7€ 2 7
Terae T a1 aftory g
(a) % At &1 fgen
(b) & T H g
(c) wHaTIHSH ¥ A d I TR @
(d) e serary ded
Which of the following statements is not correct ?
Global warming will result in :
(a) melting of the ice caps
(b) increasing sea levels

(¢) severe damage to ozone layer in stratosphere
(d) unpredictable climate patterns

(25) HiET3E wuTe § Hre4 g3 AT F1 AneH 2
(@ 23% (b) 90% () 30% d) 0%
The contribution of carbon dioxide to the greenhouse effect is
(@ 23% (b) 90% (c) 30% d) 0%
(26) 3 | Hft i wfsran &1 e 2
(a) hrEA B3 TS
(b) IS VST ! T2 FH T FEATOH FHTI
(c) Felemse
(d) HioHt 3R drow s

The ozone depletion process is due to
(a) Carbon dioxide
(b) Chlorine atoms destroying ozone molecules

(¢) UV light
(d) CHC & PFC molecules

(27) $97 % <& B, fraferfiaa gewi % seasta & w0 sncfra avl 2 2
(a) SO, 3MNO, (b) SO, 3RO,
(c) CO,3MNO, (d H,0

Acid rain is caused by the emission of the following components from
combustion of fuels

(a) SO, and NO, (b) SO, and O,
(¢) CO,and NO, (d H,0
(28) Trw=ferfiga & & 1 @1 waa fasm 61 3myfie srauron = sfe $Ha 2 2
(a) i faepre (b) @M fawm
(c) wateor FREor (d) I g+t

Which of the following focuses more on Modern concept of sustainable
development ?

(a) Economic development (b) Social development
(c) Environmental protection (d) All of the above
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(29) §FF U gR1 Had fasm @i (vadish) H aen 2 7

@ 15 (b) 16 (c) 17 (d) 13
What is the numbers of Sustainable Development Goals (SDGs) by United
Nations ?

(@ 15° (b) 16 () 17 (d) 18

(30) & ST HaTe A W, W A e 0 e R R

2. G
(ii)
(iii)
(iv)

(v)

(i)

4. (1)

(i)

VR ]

(i)

(a) P (b) TR aw degaen 2 |

(c) WeamFHIgARFHR I (d) IWw d A HE T

When the consumption of natural resources is equal to nature’s ability to
replenish then sustainability is

(a) not sustainable (b) steady state economy

(¢) environmentally sustainable (d) none of the above (1x30)

1 JEUT | A7 T FHHA & 7
What do you understand by energy management ?
FA1 FHHE % H1 LI B 7

What are the aims of energy audit ?

W H defoeh S ala 18 7

What are the alternate energy sources in India ?

frard & IeaTe AT B/ 39 T FHHA B ?

What do you understand by reserve to production ratio ?

1 % ITEN A HH-HH & TGITEA & 7
What type of pollutions are caused by the uses of energy ? (2x5)

WRd § Sl IRgya ) GHETE au1 3aeh! g v Set aigea 8 HIR |
Explain the energy scenario in India and compare the same with global scenario.

F1 FaYA % 91 fagral &1 9 HI |

Describe the seven principles of energy management. (5+5)

i # fafir=s amftor ferggefercon &Y Fomnait =t wweme |
Explain different rural electrification programs in India.

AT & TR, A1 UE dfeus FHal JIe1 1 Ui it |

Discuss India’s Non-conventional, renewable and alternate energy planning. (5+5)

91 yayd g & faft= st 1 avla $ifsd |

Discuss various roles of energy management team.

i SihE 3§ A W9 § AEE A9 3 YgE g4 are IugEl & AW fafed o
&Y T I H1E H1 U HIH |

Name the instruments used in energy audit for mechanical and temperature
measurements and describe their working in brief. (5+5)
P.T.O.
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6. (i) G g %1 g Hife |
Describe the principles of energy conservation.
(i) TaTEty ¥ sty dE1 § FHai a1 auE i |
Describe the energy conservation in residential and commercial area. (5+5)
7. () I ESE gvE w1 R 7 A wred i & giferes wwrEt &1 avi Hif |
What is green house effect ? Discuss the harmful effects of green house gases.
(i) TRr-3ga sl 1 wws fog 6t warEa | Tk FHf |
Describe the electrostatic precipitator with the help of diagram. (5+5)
8. (i) Teprasfier 2ui & ot woenai # qwsned |
Explain the energy problems in developing countries.
(i) Hrt farepra o EETel1g o913 W@ & fore gt =1 . waE i 9 ¢
What are the various efforts which the countries must undertake for sustainable
energy development ? (5+5)
9. ol @ w wftqea feoafirat forfigd -
Write short notes on any two :
(i) St uE gEtE
Energy and Environment
(i) ofig geref
Particle Material
(iii) St seegor faum

Energy Conservation Legislation (5+5)




